Intro to Probability December 07, 2017

Section #1 — Basic Probability
Assume that the spinner to the right is fair. Find each of the
following probabilities given one spin. ?

1. P($800) = A4

2. P($400) = N

3 ssoo
3. Does P($100) = P($800)? \165

Explain: E_o._cl\ Sec;l’\of\ s =
therefore Vos = Q‘fobﬁblﬁ
of hapgenny.

4, P(at least $500) =
50(9 or A ((909 or P(700> or 79(500)
-+ & + tL=y E

5. P(less than S200) =

Plog) = L

6. P(at most S500) =
Foo) ) ()
oy Lo+ 4L o4l
) @ © 8 b 6



Intro to Probability December 07, 2017

Calculate the following probabilities given two spins

Wm of $200)

Samp(e, Space (lOO, lOO)

S R
P(\oo@\uy- g‘g’

8. P(sum of at most $400)
Tbssible. Soms Scmple Space
Yoo (o0, 30) (300, 100) (200,209)
200 ( (00,200) (200, (@
200 (100,0)
P(L{oo) or Plz00) or P 2e0)

500, 100) + P(200,200)4 P10, 300) - P (00, 220) "P(z@

4-{(7(100,(00) )
(34)+(44)- (5 (59 (69
- (b%)
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9. P(sum of at least $1500)
Zssible Sums Semp le Space

Tsoo (oo, 80) (800,70
o  (&me9)

P(SUM (500) or @(s()m I(ooo>
=P, 800) +¢ (6(1), 7oo> ¥ P(&OO, 809

o) (674) (Y

- 1 4 L -
(—.lT-’(-(_CaLl-’-(nL( g

—

10. P(sum of at least $300)
¥ Too many to s+

Plevert) + A G eas”) = |
Pleenty |- P ant,
Complementof event: Sum kss 3c0.

?(le,ss’rhan 600)= ‘
P(200) = P(loo,(oo):é_ . _g__. .

- Qe esr ) 1= 12|
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11. P(sum of $200 | first spin lands on $100)

“%Z:en-\'hcﬂ‘"

Sﬂm’l‘f’l@— Sf;ace,: ( 0O, lOO)

?(\oooa( 5]9|ﬂ) (
F((;()on 2“’5?'”>

(\ODCLW‘\OO: )é :

12. P(sum of at least $1000 | 1st spin lands on 800)
Sum kess

l_ ]Qéhan (0001 Spn s %@
- ( _ P 200, lOO)

“H(-8)-F 3]
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In the new spinner to the right, assume that the $100, $500,
§700 and $600 regions are half the size of the $800, $200,

$300 and S400 regions. v

14. P($400) = $800

1z
15. Does P($100) = P($800)? No(

Explain: The_ areas of wch
Sections are nor =

13. P($800) =

\N NN

O ) Plooo) 4P 0 F(s00)

(2 (2 z 12 12

17. P(less than $200) =

P100) =

18. P(at most $500) =

Plsvo) + A «00) +F(300) F{2c0) 7 109

_ z Zz , 241 -8
7z Tz Tzt T2 %@
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Calculate the following probabilities given two spins

19. P(sum of $200)

Semple. Space: (00, ©)
P([oo and (oo)

:.,.\_-—L-'
[ 12

20. P(sum of at most $400)
?ossib(e_ soms  Sampe Space

400 (10, 302) (200, 200) (so01)
200 ( loo,zoo) (200, 109
200 ( o, (CO)

P10, 200)+ Ffaaw, 200) 1P, @)+ (o, z@Jf ?(zw,@
=) + €, 10) )

- (i (%) (.z> ) ((.2 %; (52)-
() () (5) )



21. P(sum of at least $1500)
$ossible Sums Somple Space
|S00 (70, &) or (800,709
(00O (&0, &)

Pl, 5oo> + B0, 700) + 1800, 600)

L 2 . L Z . 2
(12'12 ”(,i {’L)+—(I’Z_ (2)

= r £ + 4 -

_Z 8 .
T b N C T e

22. P(sum of at least $S300)

P leent) = |- (¥ e
(le,ss Boo) PZoo) ?(loo loo)

17_ ' 17_ "(‘f

(P@ (ﬁaﬁ—gw) < /bl%)
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23. P(sum of $200 | first spin lands on $100)

P( (00 on (¥Fspin)= |

(100 on 2% spin) = ‘L

24. P(sum of at least S1000 | 1st spin lands on 800)
P L’.SS "H\D.ﬂ st )
l— 00O l‘ >p N &OO)

]— 800 (oo)

(14 (3]
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In this last spinner, we are not given any informationabout the
areas of each section.

25. How could we determine the probability of landing on each
individual amount?

26. Determine each of the following probabilities:

o - 1
P($100)=%o (o
:7 = ﬁ'
P($200) 35@79 249
P($300) = =
‘ 22 12
P($400) = _
400 = %9
P($500) =yg = L
20 4
P($600) _%s -ﬁ
P($700) =
12
P($800) = -
D

Calculate the following based on one spin:

27. P(at least S500)
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28. P(less than $200)

29. P(at most S500)
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Calculate the following based on two spins:

30. P(a sum of $200)

31. P(a sum of at most $S300)
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32. P(atleast $1500)
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